
Shaft 
reading

Spindle 
Reading

Depth

A 0.9665 A = .9665"
B 0.9670 B = .9670"
C 0.8170 C = .8170"

Recoil Lug Thickness
Recoil Lug ID

Shank clearance 0.005
Overall shank length 0.9615 Overall shank length = .9615"

Bolt nose OD 0.7 Recess dia = .7050"
Bolt nose diameter 

clearance
0.005

Depth of bolt recess 0.1495 Recess Depth = .1495"
Crush allowance 0.001

Headspace 0.0045 Go Gauge protrusion =0.0045"
Turn Tenon Length = 0.9615", Major Dia = 1.0595" for threaded section.

Depth Micrometer Reading

A = .9665"

B = .9670"

C = .8170"

Overall shank length = .9615"

Recess dia = .7050"
Recess Depth = .1495"

Go Gauge protrusion =0.0045"

Turn Tenon Length = 0.9615", Major Dia = 1.0595" for threaded 
section.

Defiance AntiX Nitride w/ 
.550 Mag BF SA 

This is the action that has 3 


